



A New Iterative Scheme to the Common Fixed Point in Banach Space

Dr. Bareq Baqi Salman¹, Zaid Adil Abdalkareem²

zaidadil204@gmail.com

bareqbaqi@gmail.com

¹Ministry of Education, Al-Rusafa 3rd Education Directorate, Baghdad, ²Ministry of Education, First Karkh Education Directorate, Baghdad

مخطط تكراري جديد للنقطة الصامدة المشتركة في فضاء بناخ

د. باريق باقي سلمان^١، زيد عادل عبد الكريم^٢

وزارة التربية، مديرية تربية الرصافة الثالثة، بغداد^١

وزارة التربية، مديرية تربية الكرخ الاولى، بغداد^٢

MSC2020: 47H09, 47H10, 46E30

Abstract:

In this paper, introduced new iterative four step scheme in Banach spaces by used four mappings to convergence common fixed point, relied on two classes of mapping nonexpansive mapping and quasi nonexpansive mapping, we assumed T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings, proved some convergence theorems to the common fixed point based on so fundamentals for Banach spaces.

Keywords: Common fixed point, quasi nonexpansive mappings, iterative process, Banach spaces.

المستخلص:

في هذا البحث، اقدم مخطط تكراري جديد مكون من اربعة خطوات في فضاءات بناخ باستخدام اربعة دوال لتقريب النقطة الصامدة المشتركة، بالاعتماد على نمطين من الدوال وهما الدوال الغير التوسيعية والدوال الشبه غير توسيعية، حيث نفرض ان الدالة الاولى والثالثة دالتين غير توسيعيتين و الدالة الثانية والرابعة دالتين شبه غير توسيعيتين، نبرهن بعض مبرهنات التقارب الى النقطة الصامدة المشتركة بالاستناد الى الاساسيات في فضاءات بناخ.

الكلمات المفتاحية: النقطة الصامدة المشتركة، الدوال الشبه غير توسيعية، مخطط تكراري، فضاءات بناخ

1-Introduction

Suppose Y is nonempty subset of a Banach spaces X , the mappings $T_1, T_2, T_3, T_4: Y \rightarrow Y$ and a point $s \in Y$ is fixed point of T where $Ts = s$ in general Banach spaces. Fixed point theory has many application in various fields therefore it has been a flourishing area of research[1]. Nowadays, a vigorous research activity is developed in the area of numerical reckoning fixed point for suitable classes of nonlinear operators, see [2][3][4][5], ones the existence of fixed point problems analytic is not easy and thus the need to consider and



approximate solution is pertinent [6], Luaibi and Abed in (2021) studied the existence theorem for Volterra type equation fixed point theorem in G-metric spaces with some application [7], Mannan et al introduced applications of fixed point theorem Banach spaces for mapping defined on metric spaces with graph or partial order [8], Ullah and Arshad propose a new three step iteration scheme to convergence fixed points for Suzuki generalized non expansive mapping for uniformly convex Banach spaces [9], many researchers have discussed topic of the common fixed point, some of them worked on the common fixed point by using multivalued mapping in modular function spaces[10][14], and other worked in Banach spaces [11].

In our previous research[11], we studied the iterative scheme

let $T: E \rightarrow E$, and E nonempty convex subset of Banach spaces, here, we introduced the sequence $\{x_n\}$ by the algorithm following.

$$\begin{aligned} x_1 &\in E \\ h_n &= (1 - \beta_n)x_n + \beta_n T x_n \\ y_n &= T h_n \\ J_n &= (1 - \alpha_n)y_n + \alpha_n T y_n \\ f_{n+1} &= T J_n, n \in \mathbb{N} \end{aligned}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ in $(0,1)$

Now, Present the iterative algorithm that will deal with in this paper

let $T_1, T_2, T_3, T_4: Y \rightarrow Y$, and Y nonempty convex subset of Banach spaces, here, we introduced the sequence $\{x_n\}$ by the algorithm following.

$$\begin{aligned} x_1 &\in Y \\ h_n &= (1 - \beta_n)x_n + \beta_n T_1 x_n \\ y_n &= T_2 h_n \\ J_n &= (1 - \alpha_n)y_n + \alpha_n T_3 y_n \\ x_{n+1} &= T_4 J_n, n \in \mathbb{N} \end{aligned}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ in $(0,1)$

(1)

2-Preliminaries

In this section review some important definitions and lemmas that we can use in the results

Definition 2-1 [6]: Let $T: E \rightarrow E$ a mapping and E is nonempty subset of Banach space said to be nonexpansive mapping if

$$\|Tx - Ty\| \leq \|x - y\|$$

Definition 2-2 [12]: Let $T: E \rightarrow E$ a mapping and E is nonempty subset of Banach space said to be quasi nonexpansive mapping if there exist s fixed point and

$$\|Tx - s\| \leq \|x - s\|$$



Note that: Every nonexpansive mapping with fixed point is quasi nonexpansive mapping but the convers is not true for example.

Example 2-3: Let $T: E \rightarrow E$ and E is nonempty subset of Banach space the function

$$Tx = \begin{cases} 0 & \text{if } x \neq 2 \\ 1 & \text{if } x = 2 \end{cases}$$

T is quasi nonexpansive mapping but not nonexpansive since if $x = 1.9, y = 2$ then $\|Tx - Ty\| = \|0 - 1\| = 1 \not\leq \|1.9 - 2\| = 0.1$.

Definition 2-4 [6]: Let $T: E \rightarrow E$ is mapping, a sequence $\{x_n\}$ in E is said to be Fajer monotone if $\|x_{n+1} - s\| \leq \|x_n - s\|$ for all s fixed point.

Lemma 2-5 [13]: Let X satisfy uniformly convex Banach spaces and let $\{t_n\}$ in $(0,1)$ be bounded away from 0 and 1, if there exists $m > 0$ such that

$$\limsup_{n \rightarrow \infty} \rho(x_n) \leq m, \limsup_{n \rightarrow \infty} \rho(y_n) \leq m$$

$$\text{And } \lim_{n \rightarrow \infty} \rho(t_n x_n + (1 - t_n) y_n) = m, \text{ then } \lim_{n \rightarrow \infty} \rho(x_n - y_n) = 0$$

Lemma 2-6 [14]

Let $\{\rho_n\}_{n=1}^{\infty}, \{\theta_n\}_{n=1}^{\infty}$ and $\{\zeta_n\}_{n=1}^{\infty}$ nonnegative sequence such that

$$\rho_{n+1} \leq (1 - \theta_n) \rho_n + \zeta_n$$

Where $\{\theta_n\}$ sequence in $(0,1)$ and $\{\zeta_n\}$ sequence in real number such that

$$\sum_{n=1}^{\infty} \theta_n < \infty \text{ and } \sum_{n=1}^{\infty} \zeta_n < \infty, \text{ then } \lim_{n \rightarrow \infty} \rho_n \text{ is exists.}$$

Definition 2-7 [15] : A Banach space X is said to be uniformly convex if $\psi_{\eta}(\epsilon) = \inf\{1 - \left\|\frac{x+y}{2}\right\| : x, y \in B_{\eta}, \|x - y\| \geq \epsilon\} > 0$ for all $0 < \epsilon \leq 2$ say that uniformly convex Banach spaces has power P and $P \geq 1$ there exists constant c such that $\psi_{\eta}(\epsilon) \geq c\epsilon^P$ for all $0 < \epsilon \leq 2$.

Definition 2-8 : Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_i: Y \rightarrow Y$ said to be satisfy condition (II) if there exist a nondecreasing function $\phi: [0, \infty) \rightarrow [0, \infty)$ such that $\phi(0) = 0$ and $\phi(t) > 0$ for all t in $[0, \infty)$ and $\|x - T_i x\| \geq \phi(\text{dist}(x, F_p(T_i)))$ for all $x \in E$, where $\text{dist}(x, F_p(T_i))$ denotes the distance from x to $F_p(T_i)$.

3- Main Rustles

In our previous research[11], we introduced the sequence $\{x_n\}$ by the algorithm following.



let $T: E \rightarrow E$, and E nonempty convex subset of Banach spaces, here, we introduced the sequence $\{x_n\}$ by the algorithm following.

$$x_1 \in E$$

$$h_n = (1 - \beta_n)x_n + \beta_n T x_n$$

$$y_n = T h_n$$

$$J_n = (1 - \alpha_n)y_n + \alpha_n T y_n$$

$$f_{n+1} = T J_n, n \in \mathbb{N}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ in $(0,1)$

In this section will study some convergence results with the iterative scheme in equation (1) as follows

let $T_1, T_2, T_3, T_4: Y \rightarrow Y$, and Y nonempty convex subset of Banach spaces, here, we introduced the sequence $\{x_n\}$ by the algorithm following.

$$x_1 \in Y$$

$$h_n = (1 - \beta_n)x_n + \beta_n T_1 x_n$$

$$y_n = T_2 h_n$$

$$J_n = (1 - \alpha_n)y_n + \alpha_n T_3 y_n$$

$$x_{n+1} = T_4 J_n, n \in \mathbb{N}$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ in $(0,1)$, where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings.

Theorem 3-1: Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_1, T_2, T_3, T_4: Y \rightarrow Y$ where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings. and x_n in Y define by (1) then $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists for all s fixed point of T in Y .

Proof: T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings

By definitions (2-1),(2-2), equation (1), and convexity

$$\|x_{n+1} - s\| = \|T_4 J_n - s\|$$

$$\leq \|J_n - s\|$$

$$\|x_{n+1} - s\| \leq \|J_n - s\|$$

(2)

$$\text{Also, } \|J_n - s\| = \|(1 - \alpha_n)y_n + \alpha_n T_3 y_n - s\|$$

$$\leq (1 - \alpha_n)\|y_n - s\| + \alpha_n \|T y_n - s\|$$

$$\text{Hence } \|T_3 y_n - s\| \leq \|y_n - s\|$$

Substituting in equation we get

$$\|J_n - s\| \leq \|y_n - s\| \tag{3}$$



By the same way,

$$\begin{aligned}\|y_n - s\| &= \|T_2 h_n - s\| \\ &\leq \|h_n - s\|\end{aligned}$$

$$\|y_n - s\| \leq \|h_n - s\|$$

(4)

Similarity,

$$\begin{aligned}\|h_n - s\| &= \|(1 - \beta_n)x_n + \beta_n T_1 x_n - s\| \\ &\leq (1 - \beta_n)\|x_n - s\| + \beta_n \|T_1 x_n - s\|\end{aligned}$$

$$\text{Hence } \|T_1 x_n - s\| \leq \|x_n - s\|$$

Substituting in equation we get

$$\|h_n - s\| \leq \|x_n - s\|$$

(5)

$$\text{By (2),(3),(4) and (5) } \|x_{n+1} - s\| \leq \|x_n - s\|$$

And by Lemma 2-6 then $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists

Theorem 3-2: Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_1, T_2, T_3, T_4: Y \rightarrow Y$ where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings. and x_n in Y define by (1) is Fajer monotone.

Proof: By Theorem 3-1

T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings

By definitions (2-1),(2-2), equation (1), and convexity

$$\begin{aligned}\|x_{n+1} - s\| &= \|T_4 J_n - s\| \\ &\leq \|J_n - s\|\end{aligned}$$

$$\|x_{n+1} - s\| \leq \|J_n - s\|$$

$$\begin{aligned}\text{Also, } \|J_n - s\| &= \|(1 - \alpha_n)y_n + \alpha_n T_3 y_n - s\| \\ &\leq (1 - \alpha_n)\|y_n - s\| + \alpha_n \|T_3 y_n - s\|\end{aligned}$$

$$\text{Hence } \|T_3 y_n - s\| \leq \|y_n - s\|$$

Substituting in equation we get

$$\|J_n - s\| \leq \|y_n - s\|$$

By the same way,



$$\begin{aligned}\|y_n - s\| &= \|T_2 h_n - s\| \\ &\leq \|h_n - s\|\end{aligned}$$

$$\|y_n - s\| \leq \|h_n - s\|$$

Similarity,

$$\begin{aligned}\|h_n - s\| &= \|(1 - \beta_n)x_n + \beta_n T_1 x_n - s\| \\ &\leq (1 - \beta_n)\|x_n - s\| + \beta_n \|T_1 x_n - s\|\end{aligned}$$

$$\text{Hence } \|T_1 x_n - s\| \leq \|x_n - s\|$$

Substituting in equation we get

$$\|h_n - s\| \leq \|x_n - s\|$$

$$\|x_{n+1} - s\| \leq \|x_n - s\|$$

And by Definition 2-4, x_n in E define by (1) is Fajer monotone.

Theorem 3-3: Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_1, T_2, T_3, T_4: Y \rightarrow Y$ where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings. and x_n in Y define by (1) then $\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0$.

Proof: By Theorem 3-1 $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists

$$\text{Let } \lim_{n \rightarrow \infty} \|x_n - s\| = k \text{ such that } k \geq 0 \quad (6)$$

By (5) and (6)

$$\|h_n - s\| \leq \|x_n - s\| = k \quad (7)$$

$$\|x_{n+1} - s\| = k = \lim_{n \rightarrow \infty} \|x_n - s\|$$

By (2)

$$\|x_{n+1} - s\| = \|T_4 J_n - s\| \leq \|J_n - s\|$$

By (3)

$$\|J_n - s\| \leq \|y_n - s\|$$

By (4)

$$\|y_n - s\| \leq \|h_n - s\|$$

$$\text{Then } \|x_{n+1} - s\| \leq \|h_n - s\| \Rightarrow k \leq \|h_n - s\| \quad (8)$$

$$\text{By (7) and (8) } \lim_{n \rightarrow \infty} \|h_n - s\| = k \quad (9)$$

T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings



$$\|T_1 x_n - s\| \leq \|x_n - s\| \quad (10)$$

$$\lim_{n \rightarrow \infty} \|T_1 x_n - s\| \leq \lim_{n \rightarrow \infty} \|x_n - s\|$$

$$\text{So, } \lim_{n \rightarrow \infty} \|T_1 x_n - s\| \leq k \quad (11)$$

Since $\lim_{n \rightarrow \infty} \|h_n - s\| = k$ then

$$\lim_{n \rightarrow \infty} \|(1 - \alpha_n)x_n + \alpha_n T_1 x_n - s\| = k$$

$$\lim_{n \rightarrow \infty} \|(1 - \alpha_n)x_n + \alpha_n T_1 x_n - s\| = k$$

$$\lim_{n \rightarrow \infty} \|(1 - \alpha_n)(x_n - s) + \alpha_n(T_1 x_n - s)\| = k \quad (12)$$

By (6),(11) , (12) and by using Lemma 2-5 then $\lim_{n \rightarrow \infty} \|x_n - T x_n\| = 0..$

Theorem 3-4: Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_1, T_2, T_3, T_4: Y \rightarrow Y$ where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings. and x_n in Y define by (1), x_0 is unique common fixed point in T_i then x_n ρ -strongly convergence to fixed point of T_i in Y .

Proof: T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings

By definitions (2-1),(2-2) and, convexity

$$\begin{aligned} \|x_{n+1} - x_0\| &= \|T_4 J_n - x_0\| \\ &\leq \|J_n - x_0\| \\ \|x_{n+1} - x_0\| &\leq \|J_n - x_0\| \end{aligned} \quad (13)$$

$$\begin{aligned} \text{Also, } \|J_n - x_0\| &= \|(1 - \alpha_n)y_n + \alpha_n T_3 y_n - x_0\| \\ &\leq (1 - \alpha_n)\|y_n - x_0\| + \alpha_n \|T_3 y_n - x_0\| \end{aligned}$$

$$\text{Hence } \|T_3 y_n - x_0\| \leq \|y_n - x_0\|$$

Substituting in equation we get

$$\|J_n - x_0\| \leq \|y_n - x_0\| \quad (14)$$

By the same way,

$$\begin{aligned} \|y_n - x_0\| &= \|T_2 h_n - x_0\| \\ &\leq \|h_n - x_0\| \\ \|y_n - x_0\| &\leq \|h_n - x_0\| \end{aligned} \quad (15)$$

Similarity,



$$\begin{aligned}\|h_n - x_0\| &= \|(1 - \beta_n)y_n + \beta_n T_1 x_n - x_0\| \\ &\leq (1 - \beta_n)\|x_n - x_0\| + \beta_n\|T_1 x_n - x_0\|\end{aligned}$$

$$\text{Hence } \|T_1 x_n - x_0\| \leq \|x_n - x_0\|$$

Substituting in equation we get

$$\|h_n - x_0\| \leq \|x_n - x_0\| \quad (16)$$

By (13),(14),(15) and (16)

$$\|x_{n+1} - x_0\| \leq \|x_n - x_0\|$$

Furthermore it

$$\|x_n - x_0\| \leq \|x_{n-1} - x_0\|$$

Since $\|x_1 - x_0\| \leq \|x_0 - x_0\|$, so $\|x_n - x_0\| \leq \|x_0 - x_0\|$

$\|x_n - x_0\| \leq \|0\| = 0$, then $x_n \rightarrow x_0$

In our previous paper[11], we proved strong convergence as follows

Let X satisfy uniformly convex Banach spaces, let E be nonempty convex subset of X , let $T: E \rightarrow E$ be generalized (α, β) -mean nonexpansive mapping and satisfy (I) condition, x_n in E define by (1), then x_n strongly convergence to fixed point of T in E .

Proof: : $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists for all s is fixed point, if $\lim_{n \rightarrow \infty} \|x_n - s\| = 0$, nothing to prove,

if $\lim_{n \rightarrow \infty} \|x_n - s\| = k, k \geq 0$

Since $\|x_{n+1} - s\| \leq \|x_n - s\|$, then $\text{dist}(x_{n+1}, F_p(T)) \leq \text{dist}_p(x_n, F_p(T))$

So $\lim_{n \rightarrow \infty} \text{dist}_p(x_n, F_p(T))$ exists, by applying condition (I)

$$\lim_{n \rightarrow \infty} \emptyset(\text{dist}(x_n, F_p(T))) \leq \lim_{n \rightarrow \infty} \text{dist}\|x_n - Tx_n\| = 0$$

Since $\emptyset(0) = 0$, hence $\lim_{n \rightarrow \infty} \text{dist}(x_n, F_p(T)) = 0$

$\lim_{n \rightarrow \infty} \|x_n - s\|$ exists, then $\lim_{n \rightarrow \infty} \|x_n - F_p(T)\|$ exists and $s \in F_p(T)$

Suppose that x_{n_k} subsequence of x_n , and u_k sequence in $F_p(T)$

$$\|x_{n_k} - u_k\| \leq \frac{1}{2^k} \quad \text{since } \liminf_{n \rightarrow \infty} \text{dist}(x_n, F_p(T)) = 0$$

$$\|x_{n+1} - u_k\| \leq \|x_n - u_k\| \leq \frac{1}{2^k}$$

$$\|u_{k+1} - u_k\| \leq \|u_{k+1} - x_{n+1}\| + \|x_{n+1} - u_k\|$$



$$\leq \frac{1}{2^{k+1}} + \frac{1}{2^k}$$

$$\leq \frac{1}{2^{k-1}}$$

$$\|u_{k+1} - u_k\| \rightarrow 0 \text{ as } k \rightarrow \infty$$

u_k is ρ -Cauchy, $F_p(T)$, So, u_k is ρ -converge to $F_p(T)$, then $\|u_k - s\| \rightarrow 0$

Now,

$\|x_{n_k} - s\| \leq \|x_{n_k} - u_k\| + \|u_k - s\|$, hence, x_n converge to fixed point s in $F_p(T)$.

For the purpose of comparing the types of mapping we present the following theorem.

Theorem 3-5: Let X satisfy uniformly convex Banach spaces, let Y be nonempty convex subset of X , let $T_1, T_2, T_3, T_4: Y \rightarrow Y$ where T_1, T_3 is nonexpansive mappings and T_2, T_4 is quasi nonexpansive mappings. $F_p = F_p(T_1) \cap F_p(T_2) \cap F_p(T_3) \cap F_p(T_4) \neq \emptyset$, and let T_1, T_2, T_3 and T_4 satisfied condition (II), and x_n in Y define by (1), then x_n strongly convergence to common fixed point of T_i in Y .

Proof: By Theorem 3-1 $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists for all s is fixed point, if $\lim_{n \rightarrow \infty} \|x_n - s\| = 0$, nothing to prove,

if $\lim_{n \rightarrow \infty} \|x_n - s\| = k, k \geq 0$

Since $\|x_{n+1} - s\| \leq \|x_n - s\|$, then $\text{dist}(x_{n+1}, \cap F_p(T_i)) \leq \text{dist}(x_n, \cap F_p(T_i))$

So $\lim_{n \rightarrow \infty} \text{dist}_\rho(x_n, F_p(T_i))$ exists, by applying condition (II) and Theorem 3-1

$$\lim_{n \rightarrow \infty} \emptyset(\text{dist}(x_n, \cap F_p(T_i))) \leq \lim_{n \rightarrow \infty} \text{dist}\|x_n - Tx_n\| = 0$$

Since $\emptyset(0) = 0$, hence $\lim_{n \rightarrow \infty} \text{dist}(x_n, \cap F_p(T_i)) = 0$

By Theorem 3-1 $\lim_{n \rightarrow \infty} \|x_n - s\|$ exists, then $\lim_{n \rightarrow \infty} \|x_n - F_p(T)\|$ exists and $s \in F_p(T_i)$

Suppose that x_{n_k} subsequence of x_n , and u_k sequence in $F_p(T_i)$

$$\|x_{n_k} - u_k\| \leq \frac{1}{2^k} \quad \text{since } \liminf_{n \rightarrow \infty} \text{dist}(x_n, \cap F_p(T_i)) = 0$$

$$\|x_{n+1} - u_k\| \leq \|x_n - u_k\| \leq \frac{1}{2^k}$$

$$\|u_{k+1} - u_k\| \leq \|u_{k+1} - x_{n+1}\| + \|x_{n+1} - u_k\|$$

$$\leq \frac{1}{2^{k+1}} + \frac{1}{2^k}$$



$$\leq \frac{1}{2^{k-1}} \quad (17)$$

$$\|u_{k+1} - u_k\| \rightarrow 0 \text{ as } k \rightarrow \infty$$

u_k is Cauchy, $F_p(T_i)$, So, u_k is ρ -converge to $F_p(T_i)$, then $\|u_k - s\| \rightarrow 0$

Now,

$\|x_{n_k} - s\| \leq \|x_{n_k} - u_k\| + \|u_k - s\|$, hence, x_n converge to fixed point s in $F_p(T_i)$.

4-Conclusion

As shown in the above theorems, the iterative scheme in equation (1) convergence to the common fixed point in Banach spaces, it also approaches the common fixed point if it is unique as shown in the theorem 3-4, researcher may prove some numerical example with the iterative scheme given in equation (1), while it can be used with other classes of mappings or even with usual fixed point in Banach spaces.

References

- [1] Khan, S. H. (2018). Approximating fixed point of (λ, ρ) -firmly nonexpansive mappings in modular function spaces. *Arabian journal of mathematics*, 2018(7), 281-287.
- [2] Thakur, B.S. Thakur, D. (2016), “ A new iterative scheme for numerical reckoning fixed point of Suzuki generalized non expansive mapping” *Appl. Math. Computer* , Vol. 275, PP 147-155.
- [3] Kim, J., Dashputre,S., & Lim, W. H. (2016).Approximation of fixed points for multivalued nonexpansive mappings in Banach spaces. *Global journal of pure and applied mathematics*, 12(6), 4901-4912.
- [4] Marinov, R., & Nedelcheva, D. K. (2017). Stability results of fixed point iteration procedures. *journalfaculty of computerscience*, 2016-2017, 21-26
- [5] Okeke, G. A., Bishop, S. A., & Khan.S.H (2018). Iterative approximation fixed point of multivalued p-quasi nonexpansive mappings in modular function spaces with applications. *journal of function spaces*, 2018, article.1765702, 9p
- [6] Akutsah, F., Narain, O. K., Afassinou, K., & Mebawondu, A. A. (2021). An iterative scheme for fixed point problems. *ADV math sci journal*, 10(5), 2295-2316.
- [7] Luaibi, H, H. Abed, S,S. (2021) “ Fixed point theorems in general metric spaces with an application” *Baghdad journal science*, Vol.18, No.1.
- [8] Mannan et al. (2021) “ A study of Banach fixed point theorems an it is applications” *American Joural of Coumputational Mathematics*, Vol.11, No.2.



- [9] Ullah, K., & Arshad, M. (2018). Numerical reckoning fixed point for Suzuki generalized nonexpansive mapping via new iteration process. *Faculty of science and mathematics*, 32(1), 187-196.
- [10] Morwal, R., & Panwar, A. (2020). Common fixed point results for three multivalued ρ –nonexpansive mapping by using three steps iterative scheme. *journal mathematics and applications*, 11(2), 199-214.
- [11] Salman, B, B. (2024) “ Strong convergence of a new iterative scheme in generalized (α, β) -mean non expansive mapping” *Iragi Journal of Scientific*, Vol. 4, Issue 13.
- [12] Chun.H, Cheng.C & Ning.D (2014) "Strong convergence theorems for qausi nonexpansive mapping and maximal monotone operators in Hilbert spaces" *Journal of inequalities and applications*, Vol.318, No.2014, pp 1-12.
- [13] Ullah, K., Ahmed, J., Khan, M. S., & Muhammad, N. (2021). "Convergence results of faster iterative scheme including multivalued mapping in Banach spaces" *Sciences and Mathematics Journal*. Vol.35, No.4, pp 1359-1368.
- [14] Abed, S. S., & Abdul sada, K. E. (2017). "Common fixed points in modular spaces". *Ibn Al-Haitham Journal for Pure and Applied science*, Vol.2017, No.1822, pp 501-509.
- [15] Sun,Y., & Zhang, W. (2023) " On stability of almost surjective functional equations of uniformly convex Banach spaces" *Journal of Inequalities and Applications*, Vol.2023, No. 13, pp 1-16.